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--------------- is celebrated as ‘Ozone Protection Day’
1. 14 Tf0et [14" of April] 2.16 9 [16" of September]

3.12 f$sR [12" of December] 4. 16 STHaRY [16" of January]
9.2  —-————- &1 I T fISTauaTATS! aToRTa AT ST TdhiSaiie “Relall 3R,

-------------- is filled in fire extinguishers to control the fire.

1. AR [Nitrogen] 2. 3fTfaxTei [Oxygen]
3. PIE SRIRNFATES [Carbondioxide] 4. 2fer [Helium]

7.3 ol ST AGH — A8 TcdhiH! gciel IR AT ——————— TEUITd.

Living things are made of small units called -------------
1.31944 [Organ] 2.9eft [Cells]

3. dg@ [Nucleus] 4, ﬁ&tﬁila [Microorganisms]

.4 T 3T T IR PROGTT TR e Tfghded] —— ————— RIS
The process in which plants can synthesise their food is called as --------------

1. IS [Excretion] 2. TACHTET [Stimuli]
3. 1T HIANUT [Photosynthesis] 4. 951 [Reproduction]
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95, Homey, TS & ol dioreT Terd aFffgd dhet ST ?

Frog, Salamander, Toad are classified as -------------
1. =R [Terrestrial] 2. SfeToR [aquatic] 3. 39Y=R [amphibious] 4. TR [Aerial]

GTefTeTd! PIUT TISuT Ugerdt aRuc e 3Tesd el ?
Which of the following mode of Nutrition is not followed by plants?

1. TR} [Autotrophic] 2. IRYTH} [Heterotrophic]
3. PlcmHel [Insectivorous] 4. HTATER! [Carnivorous]
3NTI TARITIATATS WA Teih! DT SHHidhTaR U AU I,

Which one of the following numbers should be dialed to contanct disaster management cell:

1.100 2.101 3.102 4.108
3FAT IGHAVTIT BT ——————— g 8

Asudden eventthat causes large scale damage to -------------

1. Sitferd [Life] 2. 3T [Property]

3. AT [Social] 4. 51T 94 [All of the above]

ot eI AT HISTAT SATIOT ATIHTHI SRACH. ST UTg Y ep1oy ?

| am found in the thermometer, | measure your temperature. Whoam |?

1. 9ruft [Water] 2. fRuRe [Spirit] 3. 3MASH [lodine] 4. 9RT [Mercury]
BRI TSIT THetel! SoT JeSeT Dl e HIRTAT T I I 3RT ——————— 7 fopdges 2.
Because of on opening a box of camphor, its smell spreads all around us.
1. 3chet [Boiling] 2. freta T [Metting]

3.9+ [Condensation] 4.9 [Sublimation]

Tefiet Yeh! IoTaT €T &1 ‘i Xefie’ FguLT 3iieswdet ST,

----------------- of the following is known as synthetic silk.
1. AT [Nylon] 2. X [Terylene]

3.1 [Rayon] 4. 3ffehferas [Acrylic]

---------------- is mixed in the rubber to give hardness to it.
1. %16 [Carbon] 2. 4¢P /78 [Sulphur]

3. BIIY [Phosphoraus] 4. JFIHTIH [Aluminium]

TG YEHSH e - —————— EURIG
Useful micro organisms are called ------------

1. MERNEe [Probiotic] 2. 31 [Abiotic] 3.51fda [Biotic] 4. IETTANTED [Antibiotic]
SITERIT (UTRIT) BT 3R ——————— T HHARTH® a1l

Anaemia is caused by a deficiency of the mineral ------------

1.@1g [Iron] 2. BRI [Calcium] 3. 3MRTSH [lodine] 4. 9ITIR [Pottassium]

Our body temperature usually remains constantat opproximately ----------
1.30° 2.25° 3.37° 4.40°

Tt SRRl et St AT AT FoTed 816 ——————- e 3R

The longest and strongest bone is presentin the ------------ of the human body.

1. 8Ta™e [Forelimbs] 2. AIEMEA [Thigh] 3. PEME [Ear] 4. HacFed [Skull]




U. 17 Grerdl e e sRIsR g o fifierd Teb th quf e, a1 Teftett ‘- —————— = 3Ry FEUErA [ 3. - 6 9t
The minute hand of a clock completes one round in exactly 60 minutes. Such motionis called as ---—--

1. a1 el [Circular Motion] 2. g1gfTkseh Teit [Random Motion]
3. Fradestfetes et [Periodic Motion] 4. TFRfYT Tt [Linear Motion]
T.18  Wiclicde! DIV ISTERT § ATGTe e Tel ITERvl 3Te.

Which one of the following is an example of Random motion.

1. gedTa JIrHIEc {0 [Movement of Earth around Sun]

2. AR Bsetelt dR [The plucked string of a Sitar]

3. BTl CifTetell Ut [Movement of a ceiling fan]

4. JHTPIRATIT He&TaT MY YUIRT TR [The Kite looking for its prey]
U.19  TcdThS U e Wietiel Uehi ioft efraet 2

Which of the following scientist discovered gravitation.

1.3l HY.egt. M [Dr. C.V. Raman] 2. R 3EIeh =g [Sir Issac Newton]

3. 3Tede JMSRcTs [Albert Eienstien] 4. 74131, 37egel et [A.P.J. Abdul Kalam]
T.20 Wieliadd! e g IR fIced galre IaTevvl 31lg ; 37,

Which of the following is an one example of electrostatic force.

. e BT BRATaR BRI PRIGRAT HUCATSIIE el ST BRIG DHITDhS b gl

[After rubbing a plastic comb on hair it attracts the paper pieces]

2. ARIS! ResT YaehToiees edTd Al Gaeplell faeped]

[Iron nail gets attracted towards magnet]

3. FTSTeRIcT thed SIEF TR T80T
[Afruit falls on the ground]

4. T AT

[None of the above]
921 —-————- 1 e I T I 31T

------------- is an ultimate source of energy.

1.dg [Moon] 2.8 [Sun]

3. 5f1a199 [Fossils] 4. AU IS [Atomic energy]
¥.22 &gt offgdr - —————— T HISTdT.

The intensity of sound is measured in ----------------- unit.

1. SR [Decimeter] 2. 2R [Decibel]

3. 3fFRR [Ampere] 4.9 [Watts]

¥.23 dTciiel Ul DI T-TT Udha! SUUg ATel 2
Which of the following planets doesn’t have moon?

1. 9P [Venus] 2.9e4! [Earth]

3. 97 [Mars] 4. 911 [Saturn]
T.24 QiSKid dledd ——————— TaT fIe 3.

Saliva in mouth contains -------------- enzyme.

1. ATee St [Maltose] 2. TR [Ptyalin]

3. 9fR [Pepsin] 4. 74 [Mucous]
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ST TEHFITS! oI R - === " 5% 31w

Surface temperature of Sunis around ----------- ’c

1.1000°c 2.1500°¢c 3.600°c 4.6000°c
gTeiiettdh! oI T o SueTed] ATg! ?

Which vaccine is not available yet?

1. 8RR [T.B.] 2.®IfIS - 19 [Covid - 19]

3.99f¢ [Cold] 4. 9iferan [Polio]

5 GHE G FEUINS h ?

Whatis meantby‘G’'in5G?
1. Generation 2.Genius 3. Great 4. Guest

ST St it IvKd faeed fad aToRuT 31aea 31Tg ?
Which lamp should be used to save electricity?
1. CFLfS [CFLLamp] 2.LED 3@ [LED Lamp]

3. e &9 [Tungston Lamp] 4. Af$3M IR T [Sodium Vapor Lamp]
qut Jefiet IR (IUCAA) IT FRHEY DIV fISITel e dhet ST 2

Inthe Institute IUCAA at Pune, there is the research study about the subject -----------
1. HHfBIR= [Physics] 2. GRS [Astronomy]

3. A=A [Psychology] 4. TTOfeTA [Zoology]
et eTUeh! IUTCT TRATSTE Sic! thldTRT HfgwaTel 3T ?

Which of the following scientist has his birthday in february?
1. ST, . <gt. = [Dr. C. V. Raman] 2. 51, g} 97T [Dr. Homi Bhabhal]

3. 8. fIhd ARM™TS [Dr. Vikram Sarabhai] 4. I ATEY [None of these]

TehT ATdhfcids AN 9875 B AT 6946 31eft forfgard. ar 5742 & wwea seft fotgrer ?
In a certain code language 9875 is written as 6946. How will 5742 be written in this language?

1.2795 2.2813 3.2413 4.8653
AT 3McieiTet pITe e el ?
How many angles are there in the figure given aside?
1.12 2.18
< > 3.78 4.66
TARIETeaT ST AR T forgl.

Find the number that can be placed into the circle?

4 7 9 8
2(26)3 , 4(an)s , 3(2)4 , 4(28)3
5 3 1 2

1.17 2.21 3.22 4.31
wetlel 9T UfgedT UG o=l ug1elt ST el 3ilg ora foa=am UareiT zitea ugrelt Hee 3ire. dresod
Tt Ug, feeledT Qi ST 3Tl

Observe the relation between the first and the second term and find the fourth term from the given
alternatives.

345:60::761:7?

1.49 2.14 3.48 4.42




For Q. 35to 37

9. 35

9. 36

9. 37

9. 38

9. 39

9. 40

9. 41

9. 42

9.43

TeTd F IR U< 3TeodT.

Find an odd man out.

s 2. 2 3. A 4 Tor
530 , 756 , 420 , 864 , 642

1.756 2.864 3.642 4.530

362 , 284 , 991 , 481 , 166

1.362 2.991 3.166 4.481

QUK 4.30 TSI AT ARTepICT 4 fHfFeepieT Areare febeft 312 i TR gigel ?

What will be the measure of an angle between the hour hand and minute hand of clock at4.30 pm?
1.30° 2.45" 3.60’ 4.90°

SR UYCTeT HIIT Fgcel, ATl ult 7gcet, RIvfiell AR 7geel, ARTAT BaR Facel R Y R
et o ?

If Parrot is called Crow, Crow is called Sparrow, Sparrow is called Peacock, Peacock is called Pigeon
then which is our national bird?

1. feroft [Sparrow] 2. YR [Pigeon] 3. IG5 [Crow] 4. 7R [Peacock]
9T 3Theiiall e SJUIRT Tl T 2N,
Find the correctimage of the figure given from the given alternatives?

© © ©
1 2. | \8 3. 4 1N\8

RAgene te R 7 {3l Hrucamies @r dRd FHM st gl 10 JHT el s TIR Fiel oR ]
offet fépeft ariet 2

Siddharth cut the wire 7 times and made pieces of equal length. If each piece is of 10 cm. Find the
length of the wire?

1. 8 Hiex [8 meter] 2.80HcR[80meter] 3.8 [8 cm] 4.80 34t [80 cm]

TSIl T JETT AT TSI T ARIST 65 T SRIT ISITaTehl 25 Y 3Tg TR JATT ST dob! aeleti™ a3
fapett 2

Addition of the ages of father and son is 65 years and subtraction is 25 years today.
What will be the age of father at the time of his son’s birth?

1. 309 [30 years] 2.20aY [27 years] 3.24aY [25 years] 4.207 [20 years]

GTelTd A, B, C JTheITHEY BRI IREIRRIEE 318, Wetel IR IR NPT ITa REYRHa LT SThelt
Q.

The following figure there is a definite relationship in the figures (A) and (B) of the problem figures. Find
the figure (D) out of the four answer figures which has a similar relationship.

U AThYT [Problem Figures] IR JAThT [Answer Figures]
AR]E] - Al &
1. 2. 3. 4.
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ForQ.44to 46

A9 fSeledT e FRIE dH He IR ST,
Observe the following figure and answer the questions.

ESIRCICIIN
%b [English Speaker]
[Hindi Speaker]

[Marathi Speaker]

Y. 44  HRI01 9 fEl AT QIeg! IS STt STt ST aee faell ?

Maximum number of Marathi and Hindi both language speakeris?

1.8 2.5 3.6 4.12
T.45 <@ 9T Sieron=an et el ?

How many speakers are there those can speak all three language?

1.8 2.12 3.19 4.1
T.46  fHH QN ATST St AUMTIT e ia AT faeft 2

How many persons are there those can speak minimum two languages?

1.18 2.13 3.31 4.19
ForQ.47 &48

Gefiet TSI HeARFEIRAT ST 1% HRT Qe foTer ?

Find the missing characterin each of the following questions.
¥, 47 Q 623 1.0 2.8

Wg%@ 3.125 4.216

9.48 2,6,12,20,30,7

1.40 2.42 3.46 4.48
T.49  feeiean smadmed AR fapelt afTea ?

How many squares are there in the given figure?

1.9 2.12
3.13 4.14

T.50  3MMepciia ST IGt ShaR dhetdll 3Te. Yeldl Shifa JUIRT ATt ST,

Inthe figures continues to change in the same order what would be the next figure?
YT 3AThAT [Problem Figures]

L L

(3muear weTufdd 50 W 3™Ted™ (OMR Answersheet) ScaR Uf3da UeT sHid 1 @ 50 gfad SR Aigardid.)

(a1 Teufordt IR Gt (Answer Key) &/ @ www.drevramanexam.in J9TEceR U 8l5eT)
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